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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

CI72 	 December, 2018 

LIFE SCIENCE 

LSE-02 : ECOLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question no. 1 is compulsory. Attempt questions 

from all sections as per instructions given. 

SECTION A 

1. (a) ' Fill in the blanks with the alternatives 

given in the parentheses. 4 

(i) (Hippocrates/Theophrastus) was the 

first person to introduce ecological 

approach before the term ecology was 

coined. 

(ii) (Troposphere/Thermosphere) is the 

part of the atmosphere where life can 

exist. 
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(iii) (Precipitation/Condensation) is the 

process by which water changes from 

vapour phase to a liquid state. 

(iv) (Ephemeral annuals/Succulents) are 

plants adapted to hot and dry areas. 

(b) Match the items given in column A with 

those given in column B : 	 4 

Column A 	Column B 

(i) Phagotrophs 

	

	I. Role played in 

ecosystem 

(ii) Nudation 	II. Herbivorous 

(iii) Niche 	III. Seasonal changes 

(iv) Primary 	IV. 1st step for primary 

consumer 	succession 

V. Cannot 

manufacture 

their food 

(c) Define the following terms : 

(i) Autecology 

(ii) Population 
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SECTION B 

Attempt any four questions from this section. 

2. Explain the ecological adaptation that has taken 

place in animals to aquatic environment. 	 5 

3. Explain the importance of social forestry in 

forest conservation. 	 5 

4. Describe the biotic components of an ecosystem. 	5 

5. Compare and contrast keystone and dominant 

species in a community. 	 5 

6. Explain how urbanisation has led to 

environmental degradation. 
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SECTION C 

Attempt any two questions from this section. 

7. Explain the process of xerarch succession taking 

place in an ecosystem. 	 10 

8. Describe the characteristic of human population 

growth with a reference to age-sex distribution. 5+5 

9. Discuss the processes involved in the formation 

of soil. 	 10 
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